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Question 1   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

6 pens were sold for $11. Mr Tong bought 150 pens for his pupils. Howe much did he spend
altogether?

Accepted answers:

$275

$ 275

275

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,737

Correctly answered feedback
150 ÷ 6 = 25


25 x 11 = 275

Incorrectly answered feedback
150 ÷ 6 = 25


25 x 11 = 275

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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Question 2   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Mrs Lim bought a total of 54 apples, oranges and pears. The ratio of the number of apples to the
number of oranges to the number of pears was 3:4:2. How many oranges did she buy?

Accepted answers:

24

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,742

Correctly answered feedback
3+4+2=9

9 units = 54

1 unit = 54 ÷9=6

6x4=24

Incorrectly answered feedback
3+4+2=9

9 units = 54

1 unit = 54 ÷9=6

6x4=24

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 3   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

28m

28 m

28

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,746
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Correctly answered feedback
17x2=34

90-34=56

56÷2=28

Incorrectly answered feedback
17x2=34

90-34=56

56÷2=28

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 4   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

4 2/5 litres

4 2/5litres

4 2/5

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: Wed 15th Sep 2021
QID#: 29,024,753

Correctly answered feedback

Incorrectly answered feedback

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 5   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Fei Hong bought 6 water bottles. Each water bottle cost $13.90. He gave the cashier 2 fifty dollar
notes. Hoe much change did he receive?
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Accepted answers:

$16.60

16.60

$ 16.60

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,759

Correctly answered feedback
13.90x6=83/40

50+50=100

100-83.40=16.60

Incorrectly answered feedback
13.90x6=83/40

50+50=100

100-83.40=16.60

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 6   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

19:60

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,763

Correctly answered feedback
PQS -> 7 1/2 x 720 = 360

QUS-> 7360-132=228
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228:720

19:60

Incorrectly answered feedback
PQS -> 7 1/2 x 720 = 360

QUS-> 7360-132=228

228:720

19:60

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 7   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

50

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,766

Correctly answered feedback
90-15=75

2+1=3

75÷3=25

25x2=50

Incorrectly answered feedback
90-15=75

2+1=3

75÷3=25

25x2=50

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 8   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt
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Accepted answers:

3.06km

3.06 km

3.06

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,771

Correctly answered feedback
4 units = 12.24

1unit = 12.24÷4=3.06

Incorrectly answered feedback
4 units = 12.24

1unit = 12.24÷4=3.06

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 9   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

b) After school, Andy went to the shopping mall to buy a present for his mother. He went home after
buying the present. What as the total distance he travelled? Express your answer in kilometres and
metres.

Accepted answers:

21km 420m

21km 420 m

21 km 420m

21 km 420 m

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,783
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Correctly answered feedback
3.06x4=12.24

12.24+9.18=21.42

Incorrectly answered feedback
3.06x4=12.24

12.24+9.18=21.42

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 10   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

3/8

3/ 8

3 /8

3 / 8

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,788

Correctly answered feedback
3 units = 90

1 unit = 30

3/8

Incorrectly answered feedback
3 units = 90

1 unit = 30

3/8

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 11   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

b) How many pages were there in the book altogether?

Accepted answers:

240
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Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,794

Correctly answered feedback
30x8=240

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 12   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Accepted answers:

1660cm2

1660 cm2

1660

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: Wed 15th Sep 2021
QID#: 29,024,800

Correctly answered feedback
67-16=51

40÷2=20

51-20=31

A = 1/2 x 20 x31=310


C = 1/2 x 20 x20=200

200+310=510

510x2=1020

2680-1020=1660

Incorrectly answered feedback
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67-16=51

40÷2=20

51-20=31

A = 1/2 x 20 x31=310


C = 1/2 x 20 x20=200

200+310=510

510x2=1020

2680-1020=1660

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 13   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

Danny, Eve and Finn had some stickers at first. Danny had 40 more stickers than Eve. Eve had twice
as many stickers as Finn.


a) After Danny gave 120 stickers to Eve, Eve had 5 times as many stickers as Danny in the end. How
many stickers did Eve have in the end?

Accepted answers:

250

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,822

Correctly answered feedback
120-40=80

4 units = 120+80=200

1 unit = 50 

50+200=250

Incorrectly answered feedback
120-40=80

4 units = 120+80=200

1 unit = 50 

50+200=250

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test

Question 14   Primary 5 Maths » Primary 5 Maths (Term 3) 1 pt

b) How many stickers did Finn have?

Accepted answers:

65

Question Type: Free Text
Date Added: Wed 15th Sep 2021
Last Modified: N/A
QID#: 29,024,826
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Correctly answered feedback
250 - 120 = 130

130 ÷ 2 = 65

Incorrectly answered feedback
250 - 120 = 130

130 ÷ 2 = 65

 Answers
 |  Edit  |  Duplicate  |  Used In
 |  Reorder Remove From Test
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